EARAROBEEIERT — 2 N— IBISH —F

2017438250 (+) 11HEKR4H

Bl C 2+ 45 %2 —MH (xwlm | memml - |y ) oo mE
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
B BB mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
_ N o . > TR — 126. 22— . — FES= (BRE
11717 FIVIRIN—=4& L Sé.OA 1(2_6)4 Z222 |39 3 :1_930) FA/EEEQ—
R:Er/nJOoq4 B:IYMFILAHCR HBE77— L4
2 6| T1T>>TIVT7— 5 | PERE 1:(226).7 1-1-1-1 [40.4| — | 1 | 415 g%ﬁmﬁ“ (#R)
R:v>Ny&>HhT71 B:I-—> A Tp— (=7 S 2
S o6 | \hiE 1:27.5 4-3-4-3 | 40.8| — 5 | 459 | =HEE (KR)
31| FoyVTzA3R * 56.0 ®) NCOICEY 2 S2
LT T1ATR BT T 17T b LIHhIT7—L4
N 37 . 78| — FEA= (BME)
4 o | &1L RY 4 — K #H 5 e 1(52/(4.)7 8-7-8-6 | 40.1 6 (4_8; mﬁag—
L2 T hA—Gr—RK—F B:7>h7-T i)
s = t 4 | BB 1:27.7 5-5-5-4 |40.8| — 4 474 | BWE— (KiR)
1 : BIERS 54.0 (7€) () |PIL—E8
R:YIIFULL BYIITAX l]::Evec]
0 o AmRE :29. ~4-3- . — IR (B%RE)
slalg Ne TR R i o8 56.0% 1($g)4 3-4-3-5 |42.8 8 (4_458) e
R:TAYHARZ BNT—ILI R NEHS
[ #HER 129, ~6-7- . - HEE (KR)
715/ 5| 7>Fvo7O= it 5 b 1(72?:;5 6-6-7-7 | 42.1 2 (4_723) Vfai%aﬂ
RixAavtnayy B:7O0vx%+v>RNiL HET77—L4
IH4 > 4 | BEBE 1:29. 7-8-6-8 |42.2| — 7 433 | RIIBE (KR)
SEA 4| 56.0 (7E) Ci) | AR
L7 RIAVYL—> B:E€5T71v7AVT PR
® I —F—@EBIERL
=="F= 6,7,8,1,3,5,4,2
Aol=5r= 6,7,1,8,3,5,2,4
BEE 6,7,8,1,3,4,5,2
43—+ — 6,7,1,3,8,2,5,4
[ RN
B OB 7 420M 714K 6-7 250M B E 6-7 740M &R 1-6-7 2,030
8 B 7 160/ 1-7 640M B H 7-6 1,880 JEH 7-6-1 8,280
6 160 1-6 670M
1 260M

ABICOVWTRDTEEERROODE. TR LIV,




